
    –   

                     
     

Let’s look at quadratics again. What shape do   

       



    

  

              𝐴(𝑥) = 5𝑥

              𝐴(𝑥) = (𝑥 + 5)

            𝐴(𝑥) = (5𝑥)

          𝐴(𝑥) = 𝑥 + 5

     𝑦 = 𝑥   𝒚 = 𝒙𝟐

Let’s look at how each part above changes the graph, equation and table. 

 𝒚 = 𝒙𝟐 + 𝟓
        𝑦 = 𝑥

  

Let’s look at a few more.  Try these two based off the work from above. 

 𝑦 = 𝑥 + 2  𝑦 = 𝑥 − 3

𝑦 = 𝑥 𝒚 = 𝒙𝟐 + 𝟓 𝒚 = 𝒙𝟐 𝒚 = 𝒙𝟐 + 𝟓

   
 
 
 
 
 
 

     

       

    



Now let’s try this one:
𝒚 = (𝒙 + 𝟓)𝟐

  

Let’s look at a few more.  Try these two based off the work from above. 

 𝑦 = (𝑥 + 2)  𝑦 = (𝑥 − 3)

  
𝒚 = 𝟓𝒙𝟐

  

   

 𝑦 = 

𝑥  𝑦 = 2𝑥

𝑦 = 𝑥 𝒚 = (𝒙 + 𝟓)𝟐 𝒚 = 𝒙𝟐 𝒚 = (𝒙 + 𝟓)𝟐
   
 
 
 
 
 
 

𝑦 = 𝑥 𝑦 = 5𝑥 𝑦 = 𝑥 𝑦 = 5𝑥

   
 
 
 
 
 
 

      



      


      

       

    



Let’s look at what happens when the parabola is flipped upside down. 
𝒚 = −𝒙𝟐

  

            

       

   

              

𝒚 = 𝒂(𝒙 − 𝒉)𝟐 + 𝒌   
    



                 



             



             

        

 𝑦 = 4(𝑥 − 1) + 3  𝑦 = −(𝑥 + 3) − 2  𝑦 = 

𝑥 − 3  𝑦 = −10(𝑥 + 2)

𝑦 = 𝑥 𝑦 = −𝑥 𝑦 = 𝑥 𝑦 = −𝑥

   
 
 
 
 
 
 


